g \ BRACKET FOR LG55

M v LTI BRATCKTETSS

1246

1186 -
555 - LANDSCAPE =
%E o o 'y ) | ) 'y Oc:)"fj‘ JD
1IF 17 1
: b
™M aa} ’
[o0]
L ~ 3
ol s> 8 o u o 8§ o3l s
200 | 600 200 |
SCREWS BAG
1246
[~ - [A] [C] /
=) =) | ©
S - C
Na o & S
(x4) (x4) (x8) (x1)
PORTRAIT SOCKET ASSEMBLY
32
T
C [o% plln
e < I oTTe ]
(o2 [e=)
8 276 301 |$
[o0]
N - - @
3 F o )
: :
(o=} (=]
o O T callren
& v U
560
636
2 | — |
i :

USE 4 HOLES ABOVE AND 4 HOLES BELOW FOR WALL FIXING (INDICATED IN RED).

ATTENTION DANGER

ANCHORS ARE NOT SUPPLIED.
THE ANCHORS MUST BE CHOSEN BY THE INSTALLER ON THE BASIS OF THE FIXING WALL, THE
INSTALLATION PLACE AND THE WEIGHT TO BE SUPPORTED.
THE MANUFACTURER IS NOT RESPONSIBLE FOR INADEQUATE FIXINGS.



LM_| BRACKET FOR LG55

M v LTI BRACLCKTETS

1 ~—SCREW TORX M6x30
I

B

SCREW TORX M6X30\
\ J
S
S
CAUTION ASSEMBLY WITH AT

USE THE SAFETY CLOSURES LEAST TWO PEOPLE
INDICATED ONLY WHEN THE

PERIMETER COVERS WILL
NOT BE MOUNTED

H)/SCREW TORX M6x30

SCREW TORX M6x30

| mF/ >
\/ CAUTION ASSEMBLY WITH AT

LEAST TWO PEOPLE




\SCREW M6x16 +
WASHER @ 6

| &
gg

BRACKET FOR LG55

SCREW M6x16 +
WASHER @ 6

COVER ASSEMBLY ( OPTIONAL )

M U LTI BRACEKTETS

s T T s s s ST ST SIS

0912917109 20090720 20020200 9377FIAAIAATITT
s s g As A s T s s ATy ST AT S ATITtS
T T L
T AT

]

TORX SCREW

M4x12

1 A A A A AT AT T ADTTT
S A A ST A P TAI I IITITIIITITH
e e e e e
o oo o e e o
S e S T T S ST ST SIS TS




	Page 1
	Page 2
	Page 3

